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Objectives :

— an image per command or parameter.
— the minimum text possible.

— the most compleate possible.
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2
N .A Basic node
UO 1 2
2
1 .A Calculated node
UO 1 2
2
T @ a point
00 1 2
2
1 / [Base element]
00 1 2
2
) / Additional element
00 1 2
2
1 / Other additional element
00 1 2
2 7
1 ,/_ to highlight the command, the option oe a parameter
U// o
0 1 2
2
1 |:| Filling color (By default : white)
00 1 2

You can contact me at my personal email to
— let me know the mistakes found
— give me your commentaries, your suggestions ...
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1 Dbasic figures
1.1 Commands without asterik
4 4
3 3
[ J
2 2
[ J
1 1
[ J
0 0
0 1 2 3 1 2 3 0 1 2 3
\psline \psdots \pspolygon
(0, 0)(1,1)(2,1)(3,3) (1,0.5)(2,2.5)(3,1.5) (1,0.5)(2,3)(3,1.5)(2.5,1)
4 4
3 3
2 2
1 1
0 0
0 1 2 3 1 2 3 0 1 2 3
\psframe \psdiamond \pstriangle
(1, 1)(3, 3) (2,2)(1,1) (2,1)(2,2)
4 4
3 3
2 2
1 1
0 0
0 1 2 3 1 2 3 0 1 2 3
\pscircle \psarc \psarcn
(2,2){1} (2,2){1}{-30}{60} (2,2){1}{-30}{60}




4 4 4

2 2 2

1 1 1

0 0 0

0 1 2 3 4 0 1 2 3 4 0 1 2 3 4

\psellipse \psellipticarc \psellipticarcn
(2, 2)(1.5,1) (2, 2)(1.5,1){150}{30} (2, 2)(1.5,1){150}{30}

4 4 4

3 3 3

2 2 2

1 1 1

0
0 1 2 3 4

0
0 1 2 3 4

0
0 1 2 3 4

\pscurve[showpoints=true]
(1,1)(2,3)(3,2)(2,1)(3,1)

\psccurve[showpoints=true]
(1,1)(2,3)(3,2)(2,1)(3,1)

\psecurve[showpoints=true]
(1,1)(2,3)(3,2)(2,1)(3,1)

0
0 1 2 3 4

0
0 1 2 3 4

4
3
2
1
0
0 1 2 3 4
\pswedge
(1,2){2}{-30}{60}

\psarc[showpoints=true]

(1,2){2}{-30}{60}

\psbezier[showpoints=true]
(1,0)(4,4)(0,4)(3,0)




4 4 4
3 3 3
2 2 2
1 1 1
0 0 0
0 1 2 3 0 1 2 3 4 0 1 2 3 4
\qline (1,1)(3,3) \adisk(2,2){20pt} \psparabola
(1,1)(2,3)
4 4 4
3 3 3
2 2 2
1 1 1
0 0 0
0 1 2 3 0 1 2 3 4 0 1 2 3 4

\psRing (2,2){1}{2}

\psRing (2,2) [180,60] {1}{2}

\pscspline[showpoints](0,4)(1,1)(3,3)

\psellipseAB(0,0)(4,2){1}

\pscircle[linestyle=dotted](2,1){1}
2)

\psdots[linecolor=red](0,0)(4,




1.2 Commands with asterik

4 4
3 3
[ J
2 2
[ J
1 1
[ J
0 0
1 2 3 0 1 2 3 0 1 2 3
\psline* \psdots* \pspolygon*
(0, 0)(1,1)(2,1)(3,3) (1,0.5)(2,2.5)(3,1.5) (1,0.5)(2,3)(3,1.5)(2.5,1)
4 4
3 3
2 2
1 1
0 0
1 2 3 0 1 2 3 0 1 2 3
\psframe* \psdiamond* \pstriangle*
(1, 1)(3, 3) (2,2)(1,1) (2,1)(2,2)
4 4
3 3
2 2
1 1
0 0
1 2 3 0 1 2 3 0 1 2 3
\pscircle* \psarc* \psarcn*
(2,2){1} (2,2){1}{-30}{60} (2,2){1}{-30}{60}




4 4 4

? ? .

2 2

1 1

0 0 0

0 1 2 3 4 0 1 2 3 4 0 1 2 3 4

\psellipse* \psellipticarc* \psellipticarcn*
(2, 2)(1.5,1) (2, 2)(1.5,1){150}{30} (2, 2)(1.5,1){150}{30}

4 4 4

3 3 3

2 2 2

1 1 1 ¢

0
0 1 2 3 4

0
0 1 2 3 4

0
0 1 2 3 4

\pscurve*[showpoints=true]
(1,1)(2,3)(3,2)(2,1)(3,1)

\psccurve*[showpoints=true]
(1,1)(2,3)(3,2)(2,1)(3,1)

\psecurve*[showpoints=true]
(1,1)(2,3)(3,2)(2,1)(3,1)

0
0 1 2 3 4

0
0 1 2 3 4

4
3
2
1
0
0 1 2 3 4
\pswedge*
(1,2){2}{-30}{60}

\psarc*[showpoints=true]

(1,2){2}{-30}{60}

\psbezier*[showpoints=true]
(1,0)(4,4)(0,4)(3,0)




0 1 2 3 4

0
0 1 2 3 4

0

0 1 2 3 4

\psparabola
(1,1)(2,3)

\psRing (2,2){1}{2} \psRing (2,2) [180,60] {1}{2}

\psellipseAB*(0,0)(4,2){1}
\pscircle[linestyle=dotted](2,1){1}
\psdots[linecolor=red](0,0)(4,2)
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2 Parameters avaliable

2.1 Linewidth

| -
0

0 1 2 3 4

\psline[linewidth=10mm](2,0)(2,1)

0

\psline[linewidth=1cm](2,0)(2,1)

0 1 2 3 4

1
- \psline[linewidth=1in](2,0)(2,1)

0

0 1 2 3 4
1

I \psline[linewidth=10pt](2,0)(2,1)

0

0 1 2 3 4

By default : linewidth = 0.8pt
Dimensions en fonction de la taille de la police
1
- \psline[linewidth=1em](2,0)(2,1)

0

0 1 2 3 4
1

m {\Huge \psline[linewidth=1em|(2,0)(2,1) }

0

0 1 2 3 4
1

s e | \Dsline[linewidth=1ex](0,0.5)(4,0.5)
0

0 1 2 3 4
1

{\Huge \psline[linewidth=1ex](0,0.5)(4,0.5) }
0

\psline [linewidth=0.5cm,linecolor=green | (4,0)

11




Colors available
black | darkgray | gray | lightgray | white | red green | blue cyan magenta
I | [ [ L
brown | lime olive | orange pink | purple| teal violet | yellow
[ [ I I
By default : linecolor = black

2.3 Line style

0 1 2 3 4

\psline[linewidth=0.5cm,linestyle= dotted ](4,0)

0 1 2 3 4

\psline[linewidth=0.5cm,linestyle= dashed ](4,0)

\psline[linewidth=0.5cm,linestyle= none}(4,0)

By default : linestyle = solid

0 1 2 3 4

\psline[linewidth=0.5cm,linestyle= dotted ,dotsep =1cm](4,0)

0 1 2 3 4

\psline[linewidth=0.5cm linestyle= dashed ,dash=1cm ](4,0)

0 1 2 3 4

\psline[linewidth=0.5cm,linestyle= dashed ,
dash=1cm 0.5c¢m](4,0)

By default : dotsep = 3pt dashsep= 5pt 3pt

New option : dashcolor [15]

\psline[linewidth=.5cm,linestyle=dashed,dashcolor=red](0,0)(4,0)

\psline[linewidth=0.5cm,linestyle=dashed,
linecolor=Dblack,dashcolor=black!40,dash=5mm 5mm](0,0)(4,0)
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2.4 Double line
\psline[doubleline=true](4,0)
0 1 2 3 4
\psline[linewidth=0.25cm,doubleline=true,doublesep=.3cm](4,0)
|
0 1 2 3 4
By default : doublesep = 1.25\pslinewidth
_ \psline[linewidth=0.25cm,doubleline=true,doublecolor=red](4,0)
0 1 2 3 4
By default : doublecolor = white
2.5 Border
- \psline[linewidth=0.5cm,border=0.25cm,bordercolor=red](3,0)
0 1 2 3 4
1
/ \psline[linewidth=3pt,linecolor=red](-1,-1)(1,1)
\psline[linewidth=3pt,linecolor=blue,border==0.25cm](1,-1)(-
/ 1,1)
-1
-1 1
2.6 Shadow
_ \psline[linecolor=red,shadow=true](3,0)
0 1 2 3 4
By default : shadow = false
- \psline[linewidth=.5cm,shadow=true,shadowsize=.5cm](3,0)
0 1 2 3 4
By default : shadowsize = 3pt
_ \psline[linewidth=.5cm,shadow=true,shadowcolor=green](3,0)
0 1 2 3 4
By default : shadowcolor = darkgray
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_ \psline[linewidth=.5cm,shadow=true,shadowsize=1cm,
shadowangle=15](3,0)

By default : ;shadowangle = - 45

2.7 Specific parameters

\psdiamond
2
\ psdiamond[linestyle=dotted](2,1)(1,1)
1 \psdiamond[gangle=30](2,1)(1,1)
0
0 4
\pssarc
2
\psarc[linecolor=green,linewidth=0.5cm](0,0){2}{0} {90}
1 \psarc[arcsep=1cm](0,0){2}{0}{90}
0
0 1 2
2
\psarc[linecolor=green,linewidth=0.5c¢m](0,0){2}{0}{90}
1 \psarc[arcsepA=1cm](0,0){2}{0}{90}
0
0 1 2
2
\psarc[linecolor=green,linewidth=0.5c¢m](0,0){2}{0} {90}
1 \psarc[arcsepB=1cm](0,0){2}{0}{90}
0
0 1 2

1 \psframelfillstyle=solid](1,1)

14



Types de remplissages disponibles

none solid

vlines hlines crosshatch penrose

dots

H B

*

vlines hlines crosshatch™ | penrose*

B B

Options available :

' o

// \psframelfillstyle=hlines* fillcolor=green](1,1)
N

0 1

fillcolor = white

l g

W \psframe/[fillstyle=hlines* hatchwidth=3pt](1,1)
0 A

0 1

hatchwidth = 0.8pt
1
\psframelfillstyle=hlines* hatchsep=10pt](1,1)

0

0 1

hatchsep = 4pt
1
\psframelfillstyle=hlines* hatchcolor=red](1,1)

0

0 1

hatchcolor = black

1

/ \psframe(fillstyle=hlines* hatchangle=25](1,1)
0

0 1

hatchangle = 45

New option :

hatchwidthinc hatchsepinc [13]

\psframe][fillstyle=vlines,hatchwidthinc=2pt](14,1)

NN N N N

\psframe/[fillstyle=vlines,hatchsepinc=2pt)(14,1)
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2.9 Line arc

1

\psline[linearc=0.5c¢m](0,1)(1,-1)(2,1)
\psline[linestyle=dotted](0,1)(1,-1)(2,1)

By default : linearc = 0

2.10 Dot style

\psdots [dotstyle=pentagon*](.5,0)(1.5,0)(2.5,0) e o @
* o o o o © o o
X x x 0x + + + +
Bo o o o B+ + + 4+
asterisk *  x % Basterisk * * *
Asterisk % k% Bold Asterisk * % %
Solid Asterisk D ) ) oplus 0 O O
BoldOplus ® © o SolidOplus e o e
otimes O 0O 0 | | | |
square O o O Bsquare o o O
square® E E = diamond O O 0
diamond* ¢ 4 triangle A A A
Btriangle A A A triangle* A A A
pentagon O o O Bpentagon o o o
pentagon* e e @ Hexagon o o o
BoldHexagon o o O SolidHexagon ¢ © o
Octogon o 0o 0o BoldOctogon O O O
SolidOctogon ® o o
By default : dotstyle = *

1. linecolor=blue,fillcolor=yellow
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2.11 Parameters of the points

¢

\psdots[dotstyle=diamond*, dotsize= lcm] (0.5,0)(1.5,0)(2.5,0)

2

\psdots[dotstyle=diamond*, dotsize= 0.5cm 10)
(0.5,0)(1.5,0)(2.5,0)
\psdots|[linecolor=red,dotstyle=diamond*, dotsize= 0.5cm]
(0.5,0)(1.5,0)(2.5,0)

dotsize= 0.5pt 2.5

*"e

\psdots[dotstyle=diamond*, dotscale= 5]
(0.5,0)(1.5,0)(2.5,0)

oo

\psdots[dotstyle=diamond*, dotscale= 5 2] (0.5,0)(1.5,0)(2.5,0)

dotscale= 1

L1

\psdots[dotstyle=diamond* dotscale= 5, dotangle= 30]
(0.5,0)(1.5,0)(2.5,0)

dotangle= 0

17




3 Arrowheads and such

3.1 Types of extremities available

Ends on scale 2

A
Y

—
T
—

—

=
o OAH—
o ovl—l—

7
YY*?TTT

{|<->]} |( )|
{h-h} - —
{v-v} - >

~=
’Th
—~
——

N
AN

{>-<}
{»-«}
{1

!
(ri ey
{I>-<l)
{I>-<)
{H-H)
V-v)
{F-F)
{T-T}

{D>-<D}

Y
A

= <

e i

linewidth : 0,3cm

—
AN
&
-
V
—

{c-c}

{cc-cc}

\ AN
N\ N
L]
L
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3.2 Linejoin linecap [14]

\psline[linecap=0,linewidth=10pt](2,0.5)(2,2.5)

linecap=0

linecap=1 linecap=2

\pstriangle[linejoin=0,linewidth=10pt] (2,0.5)(2,2)

linejoin=0 linejoin=1 linejoin=2
3.3 Multiple arrows
nArrows
>HOP>—3>>>> < <<

\psline[nArrows=>5]{»-»}(0.5,0)(5,0)

\psline[nArrows=5]{«-«}(0.5,0)(5,0)

nArrowsA ArrowsB

>>—— >35> >>33>——>>
\psline[nArrowsA=>5]{»-»}(0.5,0)(5,0) | \psline[nArrowsB=5]{»-»}(0.5,0)(5,0)
ROSSS Sammm— S E— <=

\psline[nArrowsA=>5]{«-«}(0.5,0)(5,0)

\psline[nArrowsB=5]{«-«}(0.5,0)(5,0)

3.4 Parameters available

>

——

\psline[Arrowsize=3pt 3]{->}

\psline[arrowlength= 5]{->}

By default : arrowsize= 1.5pt 2

By default : arrowlength= 1.4

19




>

=

\psline[arrowinset=0]{->}

\psline[arrowinset=.8]{->}

By default : arrowinset=.4 (40% )

k< I

j<—1

linewidth=2pt

linewidth=4pt

\psline[tbarsize=4pt 2]{|<-|}

By default : tbarsize=2pt 5

=

)

\psline[bracketlength=.5]{-]}

\psline[rbracketlength=.5]{-)}

By default : bracketlength= 0.15

By default : rbracketlength=0.15

>

—p—

\psline[arrowscale=5]{->}

\psline[arrowscale= 5 10]{->}

By default : arrowscale=1

—_———

D

\psline[hooklength=10mm |{-H}

\psline[hookwidth=3mm]{-H}

By default : hooklength=3mm

By default : hookwidth=1mm

o @

\psline[arrow LW=1pt]{o-*}

\psline[arrowLW=1mm|{*-0}

-

;

\psline[veearrowlength=.5c¢m [{v-V}

\psline[veearrowangle=60]{v-V}

By default : veearrowlength = 3mm

By default : veearrowangle = 30

==

t

\psline[veearrowlinewidth =.5mm |{v-V}

\psline[filledvecarrowlength = 5mm|{f-F}

By default : veearrowlinewidth = 0.35mm

By default : filledveearrowlength = 3mm

-

I

\psline[filledvecarrowangle = 45 [{{-F}

\psline[filledveearrowlinewidth =1mm]{{-F}

By default : filledveearrowangle = 15

By default : filledveearrowlinewidth =0.35mm

20




N

\psline[tickarrowlength=2.5mm ]{t-T}

\psline[tickarrowlinewidth=1mm]|{t-T}

By default : tickarrowlength= 1.5mm

By default : tickarrowlinewidth=0.35mm

o °
——

\psline[arrowlinestyle=dotted |{t-T}

\psline[arrowlinestyle=dashed]{v-V}

arrowlinestyle= solid

<>

><<

\psline[ArrowFill=false,arrowinset=0 [{>-<}

\psline[ArrowFill=false]{>-<}

>

——

\psline[Arrowsize=3|{->}

\psline[arrowlength= 5]{->}

By default : arrowsize= 1.5pt 2

By default : arrowlength= 1.4

>

=

\psline[arrowinset=0]{->}

\psline[arrowinset=.8]{->}

By default : arrowscale=.4 (40% )

k< I

j<—

linewidth=2pt

linewidth=4pt

\psline[tbarsize=4pt 2]{|<-|}

By default : tbarsize=2pt 5

=

)

\psline[bracketlength=.5]{-]}

\psline[rbracketlength=.5]{-)}

By default 0.15

By default 0.15

>

—p—

\psline[arrowscale=5]{-|}

\psline[arrowscale= 5 10]{-)}

By default : arrowscale=1

—_———

D

\psline[hooklength=10mm [{-H}

\psline[hookwidth=3mm]{-H}

By default : hooklength=3mm

By default : hookwidth=1mm

21




o @

\psline[arrow LW=1pt|{o-*}

\psline[arrow LW=1mm]|{*-0}

-

< <

\psline[veearrowlength=.5c¢m [{v-V}

\psline[veearrowangle=60]{v-V}

By default : veearrowlength = 3mm

By default : veearrowangle = 30

==

e

\psline[veearrowlinewidth=.5mm]{v-V}

\psline[filledveearrowlength = 5mm]|{{-F}

By default : veearrowlinewidth = 0.35mm

By default : filledveearrowlength = 3mm

-

T

\psline[filledveearrowangle = 45 |{{-F}

\psline[filledveearrowlinewidth =1mm]{{-F}

By default : filledveearrowangle = 15

By default : filledveearrowlinewidth =0.35mm

N

\psline[tickarrowlength=2.5mm ]{t-T}

\psline[tickarrowlinewidth=1mm]{t-T}

By default : tickarrowlength= 1.5mm

By default : tickarrowlinewidth=0.35mm

o °
——
. .

\psline[arrowlinestyle=dotted |{t-T}

\psline[arrowlinestyle=dashed]{v-V}

arrowlinestyle= solid

<>

><<

\psline[ArrowFill=false,arrowinset=0 |{>-<}

\psline[ArrowFill=false]{>-<}
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4 Des polygones avec pst poly [19]

5 Plolygons with pstpoly

Utilisation du module pst-poly (consultez le fichier pst-poly-doc.pdf )

\PstPolygon
\pscircle[linestyle=dotted]{1}

texte g

N pres

texte avant

texte apres

texte avant \PstPolygon[PstPicture=false] texte apres

texte avant \PstPolygon[PstPicture=true] texte apres

By default : PstPicture=true

-2 -1 1 2

\PstPolygon[unit=2]
\pscircle[linestyle=dotted]{2}

\PstPolygon[unit=.5]
\pscircle[linestyle=dotted]{.5}
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5.1 Options

1

PolyRotation=36

PolyRotation=45

jm———————

-1 ~

PolyNbSides=7

PolyOffset=2

PolyOffset=2
PolyNbSides=7

PolyOffset=4
PolyNbSides=7

24




\PstPolygon[PolyIntermediatePoint=0.5]

-2 -1 1 2

-2 -1 1 2

2

-2 -1 1 2

[PolyIntermediatePoint=0.5]
\pscircle{0.5}

[PolyIntermediatePoint=1.5]
\pscircle{1.5}

[PolyIntermediatePoint=-0.5]
\pscircle{.5}

\PstPolygon[PolyIntermediatePoint=0.5,Poly Curves=true]

-2 -1 1 2

-2 -1 1 2

2

-2 -1 1 2

[PolyIntermediatePoint=0.5]
\pscircle{0.5}

[PolyIntermediatePoint=1.5]

\pscircle{.5}

[PolyIntermediatePoint=-0.5]

\pscircle{.5}
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\PstPolygon[PolyOffset=2,PolyNbSides=40,PolyEpicycloid=true]

1

PolyOffset=3

PolyOffset=4

PolyOffset=>5

PolyOffset=40

PolyOffset=41

\PstPolygon[unit=1,PolyName=A PolyNbSides=6|
\PstPolygon[unit=2,PolyName=B,PolyNbSides=6]

-2 -1 1

2

-2 -1 1

\psline(A1)(B1)

\psline(A2)(B5)
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5.2 Predefined polygon

1 i 1 1 i 1
-1 -1 -1 -1
-1 1 -1 1 -1 1 -1 1
\PstTriangle \PstSquare \PstPentagon \PstHexagon
1 : 1 O | : |
-1 -1 -1 -1
-1 1 -1 1 -1 1 -1 1
\PstHeptagon \PstOctogon \PstNonagon \PstDecagon
1 O 1 E 1 T
-1 -1 -1
-1 1 -1 1 -1 1
\PstDodecagon | \PstStarFiveLines \PstStarFive
1 ‘ 1 1 I 1
-1 -1 -1 -1
-1 1 - 1 —1 1 —1 1
\PstTriangle* \PstSquare* \PstPentagon* | \PstHexagon*
1 I 1 I 1 1
-1 -1 -1 -1
-1 1 — 1 -1 1 -1 1
\PstHeptagon* \PstOctogon* \PstNonagon* \PstDecagon*
-1 -1 -1
-1 1 -1 1 -1 1
\PstDodecagon* | \PstStarFiveLines* \PstStarFive*

27




\PstStarFive[xunit=1.5]

2 2 2
1 1 1
~1 -1 -1
—9 —2 -2
-2 -1 -2 -1 1 -2 -1 1
xunit=1.5 yunit=1.5 xunit=0.5,yunit=1.5
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6 Bezier Curves

Package « pst-bezier »

6.1 psbcurve command

3

0
0 1 2 3 4 )

\psbcurve(1,1)(2,2)(3,1)(4,2)

3
2 et
1 o Veos

0
0 1 2 3 4

5

\psbcurve[showpoints=true](1,1)(2,2)(3,1)(4,2)

6.2 Modificators

0
0 1 2 3 4 )

3 3
2 a6 2 %NS

! }\ G / \\ G
1 o - L J 1 o - L J

0
0 1 2 3 4 5

\psbeurve(L,1)(2,2)1(2,1)(3,1)(4,2)

\psbcurve(1,1)(2,2)r(2,1)(3,1)(4,2)

29




0 1 2 3 4 )

3
2
1
0
o 1 2 3 4 5
\psbeurve(1,1)(2,2)L(3,2.5)(3,1) (4,2)

3
2 -9
/N
\
1 /
1 & L J
OV

0 1 2 3 4 )

\psbecurve(1,1)(2,2)t1{0.5} (3,1)(4,2)

3
2 pA—< P
\ L
1 A4
0
0 1 2 3 4 5
\psbcurve(1,1)(2,2)t1{1.5} (3,1)(4,2)

3
2 o ‘?

/ \\ 7
1 o - L J
0

0 1 2 3 4 )

0 1 2 3 4 )

\psbcurve(1,1)(2,2)tr{1.5} (3,1)(4,2)

3
2 ?- -®
i '/ \\ ’
1 7
1 ( 4 L J

0
0 1 2 3 4 )

\psbcurve(1,1)(2,2)ts{0.5} (3,1)(4,2)

\psbcurve(1,1)(2,2)ts{1.5} (3,1)(4,2)
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2 S 9

, /A
1 ¢ o S
0

0 1 2 3 4 )

0 1 2 3 4 5 6

\psbeurve(L,1)(2,2)T{0.5) (3,1)(4,2)

\psbeurve(L,1)(2,2)T{1.5) (3,1)(4,2)

0
0 1 2 3 4 5

3 3
2 2 'Y °
A \
N \\
1 1 S “

-1 0 1 2 3 4 5

\psbcurve(1,1)(2,2)tr{-0.5} (3,1)(4,2)

\psbeurve(1,1)(2,2)t1{-0.5} (3,1)(4,2)

0
0 1 2 3 4 5

\psbcurve(1,1)(2,2)ts{-0.5} (3,1)(4,2)

6.3 bcurveTension parameter

\psbcurve[bcurveTension=1.5,linecolor=red](1,1)(2,2)ts{0.5} (3,1)(4,2)
3 3
2
1
0
0 1 2 3 4 ) -1 0 1 2 3 4 5 6
beurveTension=0.5 becurveTension=1.5
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7 Path PSTricks

\pscustom/linecolor=Dblue|{
\psline[linecolor=red ](0,0)(1,2)
\psarc[linestyle=dashed](2,2){2}{-60}{60}

\fill[fillstyle=solid,fillcolor=green]
}

\fill[fillstyle=solid,fillcolor=green]

\pscustom { \psline(0,0)(1,2)(2,2) \psarc[liftpen=1](2,2){2}{-60}{60}

}

liftpen=1

liftpen=2

\pscustom/fillstyle=eofill,fillcolor=green]{
\pscircle(2,2){2} \pscircle(4,2){2}}

fillstyle= eofill

fillstyle= oefill
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8

coordinates

8.1 Grids

\psgrid(%l)g 0)(4,3)

\\\ 3
0 2 d 4
0
Main grid
2 2 2 2 2
1 1 1 1 1
0 0 0 0 0
0 1 2 0 1 2 0 1 2 0 ! z 0 1 2

gridwidth= 2pt

griddots=3

gridcolor=red

gridlabels=>5pt

gridlabelcolor=red

By default : .8pt

By default : 0

By default : black

By default : 10pt

By default : black

Example :

o = N

O 1 2

3 4 5 6

\psgrid[gridwidth=4pt,gridcolor=red,griddots=3,gridlabelcolor=blue,gridlabels=15pt](6,2)

secondary grid

0 1 2

0 1 2

2

0 1 2

0 1 2

subgriddiv=3

subgridwidth=1pt

subgridcolor=red

subgriddots=3

By default : 5

By default : .4pt

By default : gray

By default : 0
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0

1 2

3 4 5

6

\psgrid[subgriddiv=2 subgridwidth=1pt,subgridcolor=red,subgriddots=3](6,3)

8.2 Coordinate syst
8.2.1 Default

Cartesian coordinates :

8.2.2 Other coordinate

€emnms

systems

— Activated with the command \SpecialCoor
— Desactivated with the command \NormalCoor

(x,y) . ( the origin is the current position)

\dotnode*[dotstyle=*](2;60){A} \nput*{45}{A}{A}
polar calculated ! (coorl|coor2) (coorl|coor2)
3 3 3 3
A C A
2 A 2 . 2 A 2 e e
[ ] L]
1 1 1 1 B
[ ]
0 0 0 0
0 1 2 3 0 1 2 3 0 1 2 3 0 1 2 3
(2:60) (13 sqrt 2) (2:302,60) (BIC)
8.2.3 Relative position
\dotnode*[dotstyle=* linecolor=red]([nodesep=1]B){A} \nput*{45}{A}{A}
3 3 3 3
A A
2 2 ° 2 ° 2 A
B A B B B e
1 ® o 1 ® 1 ® 1 e
0 0 0 0
0 1 2 3 0 1 2 3 0 1 2 3 0 1 2 3
([nodesep=1]|B) ([offset=1]B)A ([nodesep=1,offset=1]B) | ([angle=25nodesep=1]|B)

1. formula in the PostScript la

nguage
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8.3 Changing default units
8.3.1 Changing the units of length

\psset{unit=0.5cm}  \psframe(2,2) \psdots(1,1)  \pscircle(1,1){1}
2 2 2 2
1 1 1
[ ] [}
0 N 0 0 0
0 1 2 0 1 2 0 1 2 0 1 2
unit= 0.5cm xunit= 0.5cm yunit= 0.5cm runit= 0.5cm
By default : unit= xunit = yunit = runit = lecm

8.3.2 Changing the unit of angles

angle expressed as a percentage angles in radians
4 4
3 3
2 2
1 1
0 0
0 1 2 3 4 0 1 2 3 4

\degrees|[1] \radians
\pswedge*(0,0)2{-0.25}{0.50} | \pswedge*(0,0)2{1.57}{\psPi}

8.4 Change of origin

4

\psframe[linewidth=2pt](4,2)
2 \psframe|[linewidth=2pt,linecolor=red,
origin={1,1}](4,2)
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8.5 Permutation of the axes

\psset{swapaxes=true} \psframe(2,1)

\psset{swapaxes=true} | \psset{swapaxes=false}
(By default )
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9 Nodes

Utilisation du module pst-node

9.1 Types of nodes
9.1.1 With coordinates|]

.0 .0 .0
1.5 . 1.5 O L5 3
0 0 0
0 0.5 1.0 0 0.5 1.0 0 0.5 1.0
\dotnode(.5,0.5){A} \fnode(.5,0.5){B} \fnode[framesize=.5 5pt](.5,0.5){B}
.0 .0 .0
).5 o ).5 [ | .5 —
0 0 0
0 05 1.0 0 0.5 1.0 0 05 1.0
\dotnode*(.5,0.5){A} \fnode*(.5,0.5){B} \fnode*[framesize=.5 5pt](.5,0.5){B}
.0 .0 .0
.5 ).5 O 1.5 O
0 0 0
0 0.5 1.0 0 0.5 1.0 0 05 1.0
\pnode(.5,0.5){A} | \cnode(.5,0.5){.2cm}{A} | \Cnode[radius=.2cm](.5,0.5){A}
.0 .0
1.5 o 1.5 o
0 0
0 0.5 1.0 0 05 1.0

\cnode*(.5,0.5){.2cm}{A}

\Cnode*[radius=.2cm](.5,0.5){A}

1. fillcolor=yellow,linecolor=blue
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).5 contenu

0

0 05 1.0

0
0 0.5 1.0

0
0 0.5 1.0

\psnode(.5,0.5){A}{contenu}

\cnodeput{45}(.5,0.5)

\Cnodeput[radius=1cm)]

0

0 05 1.0

0
0 0.5 1.0

{M}{contenu} {45}(2,0){M}{contenu}
.0 .0 .0
& Q>
.5 contenu 1.5 &‘Z’Q ).5 &’\@Q
S &

0
0 0.5 1.0

\psnode*(.5,0.5){A}{contenu}

\cnodeput*{45}(.5,0.5)
{M}{contenu}

\Cnodeput*[radius=1cm)]
{45}(2,0){M}{contenu}

Texte

>
&exte pres

S
O

Texte avant \Cnodeput*[radius=1cm]{45}(0,0){M}{contenu} texte pres
These nodes do not have dimension !

9.2 Without coordinates

\trinode{A}{contenu}

\trinode*{B}{contenu}

Texte avant texte pres

Texte avant \dianode{A}{contenu} texte pres

38

contenu contenu | contenu |
\rnode{A}{contenu} \Rnode{B}{contenu} \rnode{C}{\psframebox{contenu}}
contenu contenu
\Rnode*{B}{contenu} | \rnode{C}{\psframebox*{contenu}}
contenu contenu




L0

0
0 05 10 15 20
\rput(1,1){\dianode{A}{contenu}}

9.2.1 Création de nceuds multiples

\dotnodes[dotstyle=0](1, 0.5){A}(2, 2.5){B}(3, 1.5){C}
4 4
3 3

O O
2 2
1 1
O O

0 0

0 1 2 3 4 0 1 2 3

\dotnodes \dotnodes*
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9.3 Connections between nodes

9.3.1 Types of connections availablel]

without asterisk with asterisk

\ncline{->}{A}{B}

\nccurve{->}{A}{B}

\ncarc{->}{A}{B}

\ncbar{->}{A}{B}

\ncdiag{->}{A}{B}

\ncdiagg{->}{A}{B}

\ncangle{->}{A}{B}

VSV

\ncangles{->}{A}{B}

\nccircle{->}{A}{.3cm}

\ncbox{->}{A}{B}

\ncarcbox{->}{A}{B}

CSE RN NN

\ncloop{->}{A}{B}

2. fillcolor=white,linecolor=blue
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9.3.2 Nodes as points

without asterisk

with asterisk

\pcline{->}(A)(B)

\pccurve{->}(A)(B)

\pcarc {->}(A)(B)

\pcbar{->}(A)(B)

\pcdiag{->}(A)(B)

\pcdiagg {->}(A)(B)

\pcangle{->}(A)(B)

\pcangles{->}(A)(B)

TLNNL N

\pcbox{->}(A)(B)

\pcarcbox{->}(A)(B)

\pcloop {->}(A)(B)

gl

LAY Y YA




9.3.3 Options available

\ncline[nodesep=.3cm|{->}{A}{B}

/

p

/

nodesep=0.3cm

nodesepA=0.2cm

nodesepB=0.4cm

By default : Opt

By default : Opt

By default : Opt

\ncarc[arcangle=90]{->}{A}{B}

arcangle=90

arcangleA=90

arcangleB=90

By default : 8

By default : 8

By default : 8

only for \ncarc!

\ncdiag[angle=90]{->}{A}{B}

)

angle=90

angleA=15

angleB=180

By default : 0

By default : 0

By default : 0

\ncdiaglarm=1cm]|{->}{A

{B}

arm=1cm

armA=1cm

armB=1cm

By default : 10pt

By default : 10pt

By default : 10pt

=

\ncline[offset=5pt|{->} { A}{B}
\ncline[offset=5pt]{->}{B}{A}

\nclinefoffset A=5pt]{->}{A}{B}
\ncline[linestyle=dotted]{A}{B}

\ncline[offsetB=5pt|{->}{A}{B}
\ncline[linestyle=dotted] { A}{B}

By default : Opt By default : Opt By default : Opt

\ncarcbox[boxsize=.2]{A}{B}
By default : 0.4cm

only for \ncbox et \ncarcbox!

\ncloop[loopsize=2cm|{A}{B}
By default : 1 cm
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\nccurve[ncurv=1]{->}{A}B} | \nccurve[ncurvA=1]{->}{A}{B} | \nccurve[ncurvB=1]{->}{A}{B}

By default : 0.67

By default : 0.67 By default : 0.67

only for \nccurve et \pccurve!

personalization of the connections

\ncdiagg[linearc=.3cm,doubleline=true,
arrowscale=2]{->}{A}{B}

\ncbar[linestyle=dashed,linewidth=3pt,
dashcolor=red]{)-[}{A}{B}
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9.4 Labels

9.4.1 Labels on the nodes@

syntaxe : \nput*[parametres|{position=angle}{nom}{texte}

\nput O texte \nput{0}{A}{texte}
\nput* O texte \nput*{0}{A}{texte}
a 4b
position=angle O \nput*{45}{A}{a 45}
a -45

labelsep

\nput*[labelsep=0.5cm] {0}{A}{texte}

labelsep

C texte

\nput*[labelsep=-0.1cm] {0}{A}{texte}

rot

5
P

o

\nput* [rot=45]{0}{A}{rot=453}

3. fillcolor=yellow,linecolor=blue
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9.4.2 Labels on the connections

naput ) \ncline{->}{A}{B}\naput[npos=.3]{naput}
ncput .—pﬂe-p-‘ﬂ-t)—t>0 \ncline{->}{A}{B}\ncput{ncput}
nbpu
nbput \ncline{->}{A}{B}\nbput[npos=.7]{nbput}
naput* — \ncline{->}{B}{A}\naput*[npos=.3]{naput}
nbpu

neput*® o<~—— ncput*® tTo \ncline{->}H{B}{A}\ncput*{ncput}
nbput* . \ncline{->}{B}{A}\nbput*npos=.7]{nbput}

T \ncline{->}{B}{A}\naput*[nrot=90]{naput }
[nrot=90] E“ ?’; :% \ncline{->}{B}{A}\naput*[nrot=90]{naput}

g4 = 4
i \ncline{->}{B}{A}\nbput*[nrot=90]{nbput}
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9.5 Mathematicals and graphs

9.5.1 Creation of the diagram

A

C

B
\psmatrix

A & B\\

C & D\

D | \endpsmatrix

9.5.2 10 types of nodes

R

T

O

O

[mnode= R] R

[mnode=r| r

[mnode= C] C

[mnode= f] f

[mnode= p] p

AN

[mnode= circle] circle

[mnode= oval] oval

[mnode=dia] dia

[mnode= tri] tri

[mnode= dot] dot

\psmatrix[mnode=tri]
A&B&&D\\
& & C&EN\\

\endpsmatrix

\psmatrix[emnode=tri]

A&B&&D\\
& & C & E\\

\endpsmatrix

AN

I\
N

9.5.3 Connection of the nodes

/N
o

J= P

\ncline[linecolor=red|{1,2}{2,1}
\ncline[linecolor=blue]{1,1}{2,1}
\ncline[linecolor=cyan]{1,1}{2,2}

9.5.4 Labels on connections




\ncline{1,2}{2,1}<{A}
\ncline{1,2}{2,2}<{B}
\ncline{2,1}{2,2}<{C}

\ncline{1,2}{2,1}_{A}
\ncline{1,2}{2,2}_{B}
\ncline{2,1}{2,2} {C}

\ncline{1,2}{2,1}>{A}
\ncline{1,2}{2,2}>{B}
\ncline{2,1}{2,2}>{C}

\ncline{1,2}{2,1}A{A}
\ncline{1,2}{2,2} A{B}
\ncline{2,1}{2,2}A\{C}

9.5.5 Other parameters

name

\psmatrix[mnode= oval]
[name=A] A & [name=B] B \\
[name=C] C & [name=D] D \\
\endpsmatrix
\ncline[linecolor=red|{A}{D}
\pcline[linecolor=blue|(B)(C)

mcol

By default

: mcol=c

mcol=I1 @

parametres Position du noeud

\psmatrix[rowsep=.2cm,colsep=.2cm]
parameétres & Position du noeud \\
mcol=] & [mnode= oval,mcol=1] A \\\
mcol=c & [mnode= oval,mcol=c] B \\\

mcol=c

mcol=r & [mnode= oval,mcol=r] C \\
mcol=r @ \endpsmatrix

radius

O

\psmatrix [mnode=C] & [mnode=C, radius=1cm] \endpsmatrix

mnodesize

By default : mnodesize= -1pt

@ @

©

@ ®

\endpsmatrix

\psmatrix|mnode=oval,rowsep=.2cm,colsep=.2cm]
A & B & [ mnodesize=4cm] C & D & E
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colsep

By default : colsep= 1.5cm

A & [ colsep=0cm] B & [colsep=4cm] C & D & E \\

rowsep

By default : rowsep= 1.5cm

®

©

®

(B)
© | ©

rowsep=0cm

rowsep=1cm | By default

\psspan

A&LB&C&D&EN\
A & B & C\psspan{2} & D\ \
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9.6 comments to a graphic

3 3
2 Tex\ 2 Tex\
1 1
0
0 1 2 3 4 0 1 2 3 4
\psComment(1,2)(3,1){Texte} | \psComment{->} (1,2)(3,1){Texte}

\psComment[ref=r] (1,2)(3,1){Texte}

3 3 3

0 1 2 3 4 0 1 2 3 4 0 1

2 Texte\ 2 xte 92 Tete\
1 1

[ref=r] [ref=]]

\psComment[ref=r](1,2)(3,1){ Texte}[\ncarc]

3 3 3

0 1 2 3 4 0 1 2 3 4 0 1

2 Texte\ 2 Texte\ 2 Texte—/l
1 1 1

[\ncarc] [\ncdiagg]

A voir : probléme avec le deuxiéme parameétre final [\ncput]
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10 Particular constructions

See also the package of geometry on page [I8]]

10.1 Multiples nodes creation

4 4
3 B 3
2 ¢ 2
1 A 1

0
o 1 2 3 4

0
0 1

Al

A0

2 3

\pnodes(3,1){A}(2,3){B} (1,2){C}
\psline (A) (B) (C)

\pnodes{A} (3,1)(2,3) (1,2)
\psline (A0) (A1) (A2)

10.2 Node positions calculated
10.2.1 Relative position width psLNode

1 2 3 4 5

2
1 QB oA .C
0
0 1 2 3 4 5 6
\psLNode(B)(C){0.75}{A}

\psLNode(B)(C){-0.25}{A}

10.2.2 Relative position width midAB

2
1 oB oA .C
0
0 1 2 3 4 5 6
\midAB(B)(C){A}

10.2.3 Position width psLDNode

2
1 .B .A .C
0
0 1 2 3 4 5 6
\psLDNode(B)(C){lcm}{A}
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10.2.4 Relative position width psLCNode

10.

5
4
A
3 _ -
-
2 = /
/
1
0
0 1 2 3 4 5

S = N W R W
>

0 1 2 3 4

5

5
A
4 -7
- /
3 r /
/ /
2 /
/
1
0

01 2 3 456

\psLCNode(4,1){1}(1,2){1}{A}

\psLCNode(4,1){.5}(1,2){1}{A}

\psLCNode(4,1){1}(1,2){1.5}{A}

2.5 Relative position width psLCNodeVar

4
A
3 -
’/’ I
/’ /
2 /
/
1 /
0
0 1 2 3 4 5

\psLCNodeVar(4,1)(1,2)(1,1){A}

4
3 A
’/4
2 77
/
/
1 /
0
0 1 2 3 4 5
\psLCNodeVar(4,1)(1,2)(0.5,1){A}

10.2.6 Relative position width rhombus

O~ N WA Tt
~.
Q

01 2 3 456

S = N W e ot O

01 2 3 456

\rhombus{2}(A)(B){C}{D}

\rhombus{3}(A)(B){X]{Y]

10.2.7 Relative position width psRelNodeVar

) 5 5)
4 4 TN A 4 N
SN A

3A 3TN 3 »
2 2 \ 2 y

R - .
1e—%9 le—o ! le—e !

B ,C B c B c
0 0 z 0 2

0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
\psRelNodeVar(B)(C)(1;45){A} | \psRelNodeVar(B)(C)(2;45){A} | \psRelNodeVar(B)(C)(2;30){A}




10.2.8 Relative position width AplusB

4
A
3 o
B_.-" /)
2 /’
/
1 C
0
o 1 2 3 4
\AplusB(B)(C){A}
10.2.9 Relative position width AtoB
3
5 B
\\
N
1 C
\\
-1 \\A
-2
-1 1 2 3
\AtoB(B)(C){A}

10.3 Node on a curve

10.3.1 Node on a curve with fnpnode

1 2 3 4 5

6 7 8 9 10 11 12 13

\fnpnode{2}{sin(x)}{A}

\psplot|plotpoints=200,linewidth=2pt]0{13}sin(x)

\fnpnode{10}{sin(x)}{B}
\psline[linestyle=dashed] (A) (B)
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10.3.2 Nodes on a curve with fnpnodes

1 2 3 4 5 6 7 8 9 10 11 12 13
\psplot|plotpoints=200,linewidth=2pt]0{13}sin(x)
\fnpnodes|plotpoints=14]{0}{13}{sin(x) }{A}
\psline[linestyle=dashed] (A2) (A10)

10.3.3 Node on a parametric curve with curvepnode

o A
1

\parametricplot|plotpoints=200]{0}{6.28}{sin(t)|sin(2*t)}

\curvepnode{2}{sin(t)|sin(2*t) }{A}

\curvepnode{6}{sin(t)|sin(2*t)}{B}
\psline[linestyle=dashed] (A) (B)

—_

Création automatique d’un noeud pour la tangente

1 1
o/
- Atang B -
-1 1 -1 1
\curvepnode{2}{sin(t)[sin(2*t) }{A} \curvepnode{4}{sin(t)|sin(2*t) }{X }
\psxline{<->}(X){-(Atang) }{(Atang)} | \psxline{<->}(A){-0.5(Xtang)}{1.5(Xtang)}
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10.3.4 Nodes on a parametric curve with curvepnodes

\curvepnodes|plotpoints=100]{1}{5}{sin(t)[sin(2*t) }{A}

-1 1

-1 1

\cnodeput(A20){A}{20}
\cnodeput(A80){B}{80}

\psline[linewidth=2pt] (A20) (A80)

10.4

10.4.1 Relative line width psRelNode

Relative line

O = N W

B
A

/

01 2 3 45 6

B

O = N W e Ot

01 23 45 6

\psRelLine(1,1)(3,2){2}{A}
\psRelLine[angle=30](0,0)(2,1){2}{B}

\psRelNode[linecolor=red,angle=30](B)(C){2}{A}

Parameétre trueAngle

6

O = N W ke Ot

0 1 2

3

\psRelLine[angle=45](1,1)(3,1){1}{A}
\psRelLine[angle=45,trueAngle](1,1)(3,1){1}{B}
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10.4.2 Relative line width psRelLineVar

10.

O = N W e Ot

01 2 3 456

S = N W e ot O

01 23 45 6

\psRelLineVar(B)(A)(1;90){X}

\psRelLineVar(B)(A)(0.5;135){Y}

4.3 Line from seval points width psnline
3
A3
2 °
A4 A2
1
A0
Al
0
0 1 2 3 4 5

\pnodes{A}(1,1)(3,0.5)(4,2)(2,3)(1,1)

\psnline( 0,3){A}

3
/\
2
A4 A2
oAt |
Al
0
0 1 2 3 4 )

\pnodes{A}(1,1)(3,0.5)(4,2)(2,3)(1,1)
\psnline( 2,2){A}

10.4.4 Curve from seval points width psncurve
3 3
A3 /53\
2 o 2
A4 A2 A4 A2
1 1 °
A0 A0 .
Al Al
0 0
0 1 2 3 4 5 0 1 2 3 4 5

Tpnodes{A}(L1)(3,0.5)(4:2) (2.3)(L1) | \puodes{A}(L,1)(3.05) (4,2)23) (L,1)
\psncurve(0,3){A} \psncurve(2,2){A}

10.4.5

Line by succesive step width psrline

0
0 2

1

\psrline(0,0.5)(1,1)(1,-1)(2,1)
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10.4.6 Lines relative at a point width psxline

6 6
) )
4 4
3 3
2 2

1 1
A

0 1 2 3 4 5 6 0 0 1 2 3 4 5 6
\psxline{<->}(B){1,2}{3,1} \psxline{<->}(B){A}{C}

10.5 Parallel lines and their endpoint
Syntax : \psParallelLine(Point 1)(point 2 )(point 3){lengh}{end name}

O = N W e Ot

01 2 3 45 6

\psParallelLine(2,1)(4,2))(1,2){2}{A}
\psParallelLine(2,1)(4,2)(1,3){1 }{B}
\psParallelLine(2,1)(4,2)(1,4){0.5}{C}

10.6 Perpendiculars to a lines

S = N W e Ot

0123 456
\psline(5,5)(3,0)
\psPline[linecolor=red]{->1}(0,3)(5,5)(3,0)
\psPline[linecolor=green](1,4)(5,5)(3,0)
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10.7 Vecteur normal

3
2 4 !
B
1
4
-2 -1 0 1 2 3 4 —1 1
\normalvec(B){A} \normalvec(Atang){B

\psxline{->}(A){} {-2(B)}

}
)

10.8 Tangents

10.

10.

8.1 Tangent lines of a circle

CircleT2_ .

Circle”_[\‘l"
-4 -3 -2 -1 1 2 3 4

5

\pscircle(3,0){1}
\psCircleTangents(-3,0)(3,0){1}

\pcline[nodesep=-1cm,linecolor=blue](-3,0)(CircleT1)

\nput{-90}{CircleT1}{CircleT1}

8.2 Tangent lines of an ellipse

2
EllipseT2 _
1 3 <
TC-e<Il”
-1 B —
EllipseT'1
-2
-5 -4 -3 -2 -1 1 2 3 4 5

\psellipse(3,0)(2,1)
\psEllipseTangents(3,0)(2,1)(-3,0)
\pcline[nodesep=-1cm](-3,0)(EllipseT1)

\nput{90}{EllipseT1}{EllipseT1}
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10.8.3 Tangent lines of circles

3 - CECIeTO2
i T ——_ C_ircleTOl
~~~~~~ CircleTC2 _
1 il
o N el CircleTO3
3 T CircleTO4

7—4—3—2—1 123 456 7 8 91011121314

\psCircleTangents(-1, 0){2}(5,0){1}
\psdots[dotstyle=* linecolor=red,dotscale=2](CircleTC2)

-~ CircleTI1

~ <

-1 —
—2 —~o
3 - CircleTI3

-3 -2 -1 1 2 3 4 5 6

\psdots[dotstyle=* linecolor=red,dotscale=2](CircleTC1)
\nput{90}{CircleTC1}{CircleTC1}

10.9 Intersections
10.9.1 Intersection point of two lines width psIntersectionPoint

Syntax : \psIntersectionPoint(point 1)(point 2)(point 3)(point 4){name}

4
3 C
2 A
1
0 B
—1
1 2 3 4 5
\psIntersectionPoint(B)(C)(1,3)(4,0){A}
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10.9.2 Intersection points with polyIntersections

3 3
2 2
Y Y
1 B 1 B
X
0 0
0 1 2 3 4 0 1 2 3 4
\polyIntersections{X}{Y}(A)(B) \pnodes{P}(0.5,.5)(3,.5)(2.5,2)(1,2.5)(.5,1)
(0.5,0.5)(3,0.5)(2.5,2)(1,2.5)(0.5,1) | \polyIntersections{X}{Y}(A)(B){P}{4}

A60

1
C B
/\Y E . ‘X/
. \/
—1
7 8 9 10 11 12 13

1 2 3 4 ) 6

\fnpnodes[plotpoints=100]{0}{13}{sin(x) }{A}
\polyIntersections{X}{Y}(C)(B){A}{60}

1 AT5

( —\Y S : \X
1 \)

-1 1
\curvepnodes|plotpoints=100]{1}{5}{sin(t)|sin(2*t) }{A}
\polyIntersections{X}{Y}(C)(B){A}{75}
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10.10 The 9 positions

4.PSPtl PS‘Dtc
3
5 ‘PSPcl PS{’CC
1
0 .PSPbl PS.Pbc

0 1 2 3 4

with \psDefPSPNodes
PSPtr
[

PSPecr
o

\beginpspicture(6,4)
\psDefPSPNodes
\psdots(PSPbl)
\uput[45](PSPbl){PSPbl}

10.11 Nodes on text with \psDefBoxNodes

tl tC tr
@ L Lo
Cl C Cr
{ o [ ]
Bl BC Br
[ [ ] [ ]
bl bC br
@ L @—

\shorthandoff{ :} *
\uput[90](nom:t1){tl}

\shorthandon{ :}

\psscalebox{15}{ \psDefBoxNodes{nom} { \color{red!20} abcdefghij}}

\qdisk(nom:t1){3pt}

1. désactivation et ré-activation de « :
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10.12

ArrowNotch

\curvepnodes|plotpoints=100]{1}{1.1}{sin(t)[sin(2*t) }{A}

A0

A0

\ArrowNotch[arrowscale=10]{A}{0}{>H{X}
\psline[arrowscale=5]{-D>}(X)(A0)

\ArrowNotch[arrowscale=10]{A}{0}{<}{V}
\psline[arrowscale=5]{-D>}(V)(A0)

A20

A20

\ArrowNotch[arrowscale=10]{A}{0}{>H{X}
\psline[arrowscale=5]{-D>}(X)(A0)

\ArrowNotch[arrowscale=10]{A}{0}{<}{V}
\psline[arrowscale=5]{-D>}(V)(A0)

avec nlput

10.14 nlput
2
C
1 o Texte 4
0
0 1 2 3 4 5 6
\nlput(B)(C){lcm}{Texte}
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10.13 Placement d’une étiquette a une distance donnée




\nlput[nrot=:U](B)(C){lcm}{\red Texte}

Tekte

nrot=:U

nrot=:U

nrot=90

e

nrot=:L

nrot=:R

sans parametre
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11 Homothety

\ pscircle[linestyle=dotted]{1}
\psHomothetie[linecolor=magental(2,1){.5}{\pscircle{1}}
\psHomothetie[linecolor=red](2,1){2}{\pscircle{1}}
\psHomothetie[linecolor=green](2,1){3}{\pscircle{1}}

2

1

=

el

N

-8

-7

-6

-5

-4

-3

-2

-1

0

\ pscircle[linestyle=dotted]{1}
\psHomothetie[linecolor=magental(-2,-1){.5}{\pscircle{1}}
\psHomothetie[linecolor=red](-2,-1){2}{\pscircle{1}}
\psHomothetie[linecolor=green](-2,-1){3}{\pscircle{1}}

6

5

4
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\pscircle[linestyle=dotted]{1}
\psHomothetie[linecolor=magental(2,1){-.5}{\pscircle{1}}
\psHomothetie[linecolor=black](2,1){-1}{\pscircle{1}}
\psHomothetie[linecolor=red](2,1){-2}{\pscircle{1}}
\psHomothetie[linecolor=green](2,1){-3}{\pscircle{1}}

A~
— [
/ AN
/
LY ]
...//Q ><\//
-2 -1 o0 1 2 3 4 5 6 7 8 9 10 11 12
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12 Placing the pictufe
12.1 In'the text /

picture in the text Mete is the following code : \psline[linecolor=red](0,0)(4,4)
\psline[linecolor=blue](0,0)(4,2) \pscircle[linecolor=green|{2}

The drawing is superimposed on the text, it has no dimension !

12.2 In a pspicture environment

2 syntaxes
\pspicture(4,4) \begin{pspicture}(4,4)
\psframe(4,4) \psframe(4,4)
\pscircle[linecolor=red](2,2){1cm} \pscircle[linecolor=red](2,2){1cm}
\endpspicture \end{pspicture}
text before text after | text before text after

12.3 Clipping the picture

\begin{pspicture}(4,4)
\pscircm%{lﬂ

\begin{pspicture}*(4,4)
\pscircle[linecolor=red](2,2){2.5}

4 N

/ N
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12.4 Partial clipping

<

/

\begin{pspicture}*(-2,-2)(3,2)
\psclip {\psdiamond(.5,.5)(2,1)}

\pscircle[linecolor=red|{.5}
\pscircle[linecolor=red]{1}

\endpsclip
\pscircle[linecolor=green]{1.5}
\end{pspicture}

12.5 Relative to the text line

before \begin{pspicture}[shift=*](1,1) \psframe(1,1) \end{pspicture} after

before

after

before

after

before after

before after

By default

shift="*

shift=.5cm

shift=-.75cm
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13 Placing objects

13.1 Macro rput

syntax : \rput*[reference point]{rotation}(coordinates){contents}

13.1.1 Role of the asterisk@

13

objet
\rput(1,0

){objet}

\rpl(it’J“(l,O){objet}

bjet

.1.2 Reference point

Horizontal

1| left ®bjet \rput*[1](1,0){objet }\qdisk(1,0){3pt}

r | right obje® \rput*[r](1,0){objet }\qdisk(1,0){3pt }
vertical

> . .

t | top ot \rput*[t](1,0){objet }\qdisk(1,0){3pt}

bottom ohget \rput* [b](1,0){objet }\qdisk(1,0){3pt}

B | baseline ohget \rput*[B](1,0){objet}\qdisk(1,0){3pt}

horizontal and vertical
rt | right and top bie® \rput*[rt](1,0){objet }\qdisk(1,0){3pt}
obje

13.1.3 Rotation angle of the object

\rput*[t]{45}

\rput*[t]{90}

\rput*[bj{90}

\rput*[BJ{90}

\rput*[I[{90}

\rput*[r]{90}

ot
" 3 B B ‘g
Q ﬁ o o ’
N S = 2 2
8
o
13.1.4 Rotation angle in cardinal points
top top top top left right
and east and west and north and south and east and east

\rput *[t|{E}

\rput *[t|{W}

\rput *[t|{N}

\rput *[t}{S}

\rput*[I]{W}

\rput*[r[{W}

qa‘qo

ob’et

ob’et

qagqo

®bjet

obje®

4. Fillcolor=yellow and Reference point = blue disk
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13.2 Macro uput

syntax : \uput*{spacing}[Reference point]{rotation}(coordinates){content}

13.2.1 Role of the asterisk[:f]

objet

objet

\uput(1,0){objet}

\uput*(1,0){objet}

13.2.2 Reference point : angle

A 45° .Objet \uput*[45](1,0){objet }\qdisk(1,0){3pt}
. objet . )
a 90° °® \uput*[90](1,0){objet }\qdisk(1,0){3pt}
X objet . .
a 120° °® \uput*[120](1,0){objet }\qdisk(1,0){3pt}

13.2.3 Reference point : letter

\uput*[u] \uput*r] \uput*[d] \uput*[l] \uput*[ul] \uput*[ur]
objet ; : objet objet
® @ objet () objet @ ® [
objet

13.2.4 Rotation angle of the object

\uput*[u]{45}

\uput*[u]{90}

\uput*[d]{90}

\uput *[1}{90}

\uput*[r[{90}

\uput*[ur]{90

X
Y

® %4

@ objet

objet @

objet
[ J

[ J
objet

objet

5. Fillcolor=yellow and Reference point = blue disk
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13.2.5 Spacing between object and reference point

By default : labelsep= 0.5 pt

Example :
\psset{labelsep=1cm } % new default spacing
\uput(1,0){ & lem } % use of the new default spacing
\uput {3cm}(1,0){a 3cm} % spacing = 3cm
\uput{3cm}[-30](1,0){a 3cm et & -30°} % spacing = 3cm angle= -30°
\qdisk(1,0){3pt} %Reference point
] a lem a 3cm

a 3cm et a -30°

13.3 Macro psrotate
\psrotate(2,1){45}{\psline(0, 1)(1, 2)(2, 2)(3, 4)}
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14 Creating color

Utilisation of the package xcolor (automatically loaded with the package

pstricks)

14.1 Macro newgray

syntax : \newgray{color }{pourcentage}

\newgray{G00}{0}

\psframe/[fillcolor=G00](1,1)

{0}

{2}

{4}

{.6}

{-8}

{1}

14.2 Macro newrgbcolor

syntax : \newrgbcolor{color}{%red %green %blue} :

\newrgbcolor{C1}{1 0 0}

\psframe][fillcolor=C1](1,1)

{100} | {010} | {001} | {005} [ {5501 [{055] {258 ]1{85.8]
14.3 Macro newhsbcolor
syntax \newhsbcolor{color}{hue saturation brightness}
\newhsbcolor{C1}{0 .5 .5} \psframe[fillcolor=C1](1,1)
0550 [ {5557 [{155 [{505) {515 ({550 {558 (551

14.4 Macro newcmykcolor

syntax \newcmykcolor{color}{cyan magenta yellow black}

\newcmykcolor{C1}{10 0 0}

\psframe(fillcolor=C1](1,1)

{1000}

{0100}

{0010}

{5500}

{0550}

{55050}

{100 .2}

{100 .8}
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14.5 Tables of colors

14.5.1 Macro newrgbcolor

0.4] 0.4| 0.4| 0.4]| 0.4

0.4] 0.6} 0.8) 1.0

0.8] 0.8] 0.8] 0.8

1.0 1.0) 1.0} 1.0

0 | 0.2] 0.4} 0.6} 0.8] 1.0

1.0f 1.0} 1.0} 1.0f 1.0 1.0

0.2] 0.2 0.2] 0.2 0.2

0.4] 0.6] 0.8 1.0

0.8] 0.8] 0.8] 0.8
0.8] 0.8] 0.8] 0.8

0.2 0.4} 0.6] 0.8] 1.0

0.8] 0.8} 0.8] 0.8] 0.8] 0.8

red
green
blue

0.4] 0.6] 0.8]| 1.0

0.0} 0.0} 0.0} 0.0

SRl C °©
“ool--0
B 2 <
cocd|oc~o
EER ©°©
cod|oc~o
R Y ©
cocd|oc~o

8e9

oo

14.6 Macro newhsbcolor

o @»
S8
R==
= L=
~ ="e0
S ad
BB

ese|ceaclete

— — - o~ - o~

2 s 212 9° ERS

SISl RSN RN

D o 22N

SISl RSN RN

~_olrtaol|swo

SIS NSRS RoR-R

© s 21C9° ENS

SIS RSN KRR

N R S = =

c°d]loor|lococ~]|ooc~ =

M R S =

c®rd]loo~|looc~]|oo~ =

N BRI S =

c®d]loo~|looc~]|oo~ =

N _oldcola~volaoo E)

SIS RSRCRE RSRSREY RSRSR =

~ _ol-col-<o|-©oo S

c°H]lcod|les~|so~ =
) N O ¥ o

e R
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14.7 Macro newcmykcolor
cyan
magenta
yellow

cyan
magenta
yellow
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14.8 Opacity

\ psframe][fillcolor=blue,opacity=0.7](-

(-2,0)(2,0)

n

opacity =0.7

opacity =0.5

opacity =0.2

opacity =0

\psline[linewidth=1cm,linecolor=blue,strokeopacity =0.7)(

2,-2)(-2,2)

¢

b

/

strokeopacity =0.7

strokeopacity =0.5

strokeopacity =0.2

strokeopacity =0
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14.9 Tranparency

blendmode (By default : blendmode=0)

( type /Compatible)

\psset{blendmode=1}

\psset{blendmode=2}
(type /Screen )

\psset{blendmode=3}
(type /Multiply)

\psset{blendmode=0}
(type /Normal)

\psframe][fillcolor=red, fillstyle=shape](-2,-2)(1,1) \psframelfillcolor=Dbluefillstyle=shape](-1,-1)(2,2)

shapealpha (By default : shapealpha=0.6)

\psset{blendmode=1}

\psset{blendmode=2}

\psset{blendmode=3}

=0

shapealpha

0.3

shapealpha

1

shapealpha

\psframe][fillcolor=blue,fillstyle=shape,shapealpha=1](-1,-1)(2,2)
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14.10 Monochrome,Grayscale & resetColor

\pssetMonochrome

\ psframe/[fillstyle=solid,fillcolor=red](2,1)
\psframe/[fillstyle=solid,fillcolor=blue](2,0)(4,1)
\psframe][fillstyle=solid,fillcolor=yellow](4,0)(6,1)
\psframe][fillstyle=solid,fillcolor=green](6,0)(8,1)

\pssetMonochrome

\pssetGrayscale

\psresetColor

\pssetMonochrome

\psframe/[fillstyle=solid,fillcolor=blue 20](2,1)
\psframe/[fillstyle=solid,fillcolor=blue 140](2,0)
\psframe][fillstyle=solid,fillcolor=blue 160](4,0)
\psframe][fillstyle=solid,fillcolor=blue 180](6,0)

’

(4,1)
(6,1)
(8,1)

)

\pssetMonochrome

\pssetGrayscale

\psresetColor
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15 Own commands

Warning : the creation of the command
must be placed before
\begin{document} !

syntax :\newcommand{\name}[ number of variables]{Description}

Example : command with one variable :

Crreation
\newcommand
{\maboite}[1]{ % command named « maboite »with one variable
\begin{center} % centering the box
\psframebox|[fillcolor=yellow fillstyle=solid]{ % a yellow text box
\parbox{ .5\linewidth } % use of \parbox to set the width of the box
{\centering % centering the text in the box
#1} }\end{center} % #1 will be replaced by the variable

Utilisation : \maboite{contenu}

| contenu

Example : command without variable :
creation
\newcommand{\DFR}\psset{unit=.25cm.,fillstyle=solid,linewidth=0pt} \ begin{pspicture*}(3,1.5)
\psframe][fillcolor=blue](1,1.5) \ psframe[fillcolor=white](1,0)(2,1.5)\ psframelfillcolor=red](2,0)(3,1.5)
\end{pspicture*}
Utilisation : \DFR Il W

16 Own styles

syntax : \newpsstyle{name}{parameters}

Example :
Definition of the new style :
\newpsstyle{mafleche}{arrowsize=4pt 6,arrowlength=2,doubleline=true,linewidth=1pt}

Using the new style : \psline[style=mafleche]{->1}(0,0)(3,0) )

Adding or changing a parameter style [14]

\addtopsstyle{mafleche}{linecolor=red} )
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17 Own objects

syntaxe : \newpsobject{name}{object}{parameters} :

Example :
\newpsobject{maboite}{psframebox }{fillstyle=solid fillcolor=yellow linewidth=2pt,linecolor=red }

\maboite{my custom box} | my custom box

18 Boxed objects

\psframebox*{objet }
without asterisk | with asterisk

\psframebox* objet objet

\psdblframebox* objet objet

\psshadowbox* | objet I objet I

\pscirclebox* objet
\psovalbox* objet
\psdiabox* objet

\pstribox* A]A objet

Example : \psdiabox{\DFR}

18.1 Options

\psframebox framesep=.5cm]{framesep=.5cm}

By default framesep=.5cm
By default : framesep=3pt framesep=0cm framesep=.5cm

boxsep By default : true (Apply only to \psframebox, \pscirclebox and \psovalbox)

text before | boxsep=true | text betweer] boxsep=false fext after

7



Option trimode only for \pstribox

without asterisk | with asterisk

stribox*[trimode=U objet
p ]

objet

\pstribox*[trimode=D]

objet

stribox*[trimode=R objet
p ]

objet

\pstribox*[trimode=L]

AV

objet

\psframebox{\parbox[l]{3cm}{use of \parbox to limit the width of the framebox}}

use of \parbox to limit
the width of the framebox

19 Framed objects

19.1 Text in a frame

text

text

\psTextFrame(0,0)(4,2){text} | \psTextFrame*[linecolor=yellow](0,0)(4,2){text}

19.1.1 Problem : text too long for the frame

\psTextFrame(0,0)(4,1){Problem : text too long for the frame}

Problpm : text too long for the

frame

Solutions

text too long for the
frame : Problem solved

text too long for the
frame : Problem solved

\psTextFrame(0,0)(4,2){
\parbox{3.5cm}{ text too long for
the frame : Problem solved }}

\psTextFrame(0,0)(4,2){

\begin{minipage}[c]{3.5cm}

text too long for the frame : Problem solved
end{minipage}}
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19.1.2 Text rotation in the frame

text

\psTextFrame[rot=90](0,0.5)(4,2){text}

19.1.3 DPosition of the text in the frame

\psTextFrame[ref=1](0,0)(2,2){text}
Texu
bext text
toxt toxt
ref=1 ref=r ref=t ref=b ref=B
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20 Buttoned objects

Package « pst-fr3d »
syntax :\PstFrameBoxThreeD [parameters]{ Content }

20.1 Without option

 mm 3

\PstFrameBoxThreeD{Button} | \PstFrameBoxThreeD{\shortstack{Un!\\Deux!\\Trois!}}

\PstFrameBoxThreeD{\DFR} \PstFrameBoxThreeD{$\dfrac{1}{\sqrt{3}}$}

20.2 Sizing

I ] r 3 r N
| L 4 A 4

20.3 Aspect

\PstFrameBoxThreeD[FrameBoxThreeDColorHSB =0 0.3 1]{0 0.3 1}

/ /
FrameBoxThreeDColorHSB ! 0031 03031 l 0.60.31 1031
N

FrameBoxThreeDOn=true/false

in:

FrameBoxThreeDOpposite=true/false i -
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FrameBoxThreeDBrightnessDistance

N e

mini nul défaut maxi
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21 Canceling objects
>
\psCancel{Objet } \psCancel{$\dfrac{1}{2}$}

Objet

\psCancel*{Objet} | \psCancel*|opacity=0.5]{Objet}

\psCancel[cancel Type=x]{Objet}

>

o | D

[cancel Type=x]

[cancelType=s| | [cancelType=Db]
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22 Lines and special connections

22.1 Line by hand

\pslineByHand(0,0)(4,0)

(T ANT L o

By default

varsteptol=5

VarStepEpsilon=.4

By default : 2

By default : .8
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22.2 Symbol on the line

\psline[ArrowInside=->1(0.5,0)(5,0)

\psline[ArrowInside=-<](0.5,0)(5,0)

\psline[ArrowInside=-»1](0.5,0)(5,0)

\psline[ArrowInside=-«](0.5,0)(5,0)

L L

T T
\psline[ArrowInside=-]](0.5,0)(5,0) \psline[ArrowInside=-|*](0.5,0)(5,0)

L L

L \

\psline[ArrowInside=-[](0.5,0)(5,0)

\psline[ArrowInside=-( ](0.5,0)(5,0)

\psline[ArrowInside=-0](0.5,0)(5,0)

\psline[ArrowInside=-*](0.5,0)(5,0)

4

\psline[ArrowInside=->{](0.5,0)(5,0)

\psline[ArrowInside=-<]](0.5,0)(5,0)

>

\psline[ArrowInside=-h](0.5,0)(5,0)

\psline[ArrowInside=-H](0.5,0)(5,0)

=

<

\psline[ArrowInside=-v](0.5,0)(5,0)

\psline[ArrowInside=-V](0.5,0)(5,0)

\psline[ArrowInside=-](0.5,0)(5,0)

\psline[ArrowInside=-F](0.5,0)(5,0)

Z.
7

\psline[ArrowInside=-t](0.5,0)(5,0)

\psline[ArrowInside=-T](0.5,0)(5,0)
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more option !

ArrowInsidePos=.3 (soit & 30%)

ArrowInsidePos=20 (soit & 20 pt)

Z.

7

ArrowlnsideNo=>5,ArrowInside=-

> ArrowlInsideNo=3,ArrowInside=-t

Z.

Z.

7 7

7

ArrowlInsideOffset=0.1

ArrowlInsideOffset=-0.2

22.3 Drawing with symbols

A

\psline[linestyle=symbol](-2,0)(2,0)

By default : 20pt

By default : 10pt

& & :
s s '
o # s
LN AN A LR 22K X oS e 8 o %
By default symbolStep=.5 symbolWidth=.5cm rotateSymbol=true

By default : false

\pscurve[linestyle=symbol,symbolFont=PSTricksDotFont|(-2,1)(0,-1)(2,1.5)

.
+-|-+-|:|_

- *

. o

By default

symbolWidth =1lcm
By default : 10pt

rotateSymbol =true
By default : false

rotateSymbol=true
startAngle=45

symbolFont=Dingbats ( By default)

symbolFont=PSTricksDotFont

. * A O
¢ 5 A O
* o o8 S A A A A OG-0
symbol=u symbol=120 symbol=u symbol=120

1. for other parameters see page

6. valable seulement pour \psline, \pspolygon,\pscurve \psccurve et \psbezier
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22.3.1 Symbols available with the keyboard

symbolFont=Dingbats ( By default)

A = B: + -+ C: %+ < D: % < | E: %+ <& F : + G: ¢+ <
H: * % I: % ¢ J: 9 © |K: X % L: % % M: H* N: & %
O: &% * P: % % |Q: % * R: & 3 S: ¥ ¥ T : * U: ¥ 3
V: kX X W: % X% X: % % Yo% % Z: % ¥ 1: o o 2
3:v 4 : v Vv 5: X X 6: % % 7T X X 8: X X 9: +
a: ® @& b: @ & c: % % d: % % e: W X £ ok g Kk 3k
h: s sk i ok jook ¥ k: % % 1: ®@ @ m: O O n: B H
o: 4 Q1 p: O3 0O q: @ Q r: 0 O s: A A t: v Vv u: ¢ ¢
v:e & |lw:D D x: I y: b1 z: 1 1 Y ow | - # &
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v W x: X X |y: zZ: + -
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22.4 Coils
Package pst-coil

22.4.1 The 3 types of coils

TR

%

\pscoil(0.5,0)(4,0)

\pszigzag(0.5,0)(4,0)

\pssin(0.5,0)(4,0)

~rre

vVwvyy

s, | A
\4

\pscoil*(0.5,0)(4,0)

\pszigzag®(0.5,0)(4,0)

\pssin*(0.5,0)(4,0)

22.4.2 Parameters of coils

—€000000000 ¥

AN~

\pscoil[coilwidth=0.5c¢m](0.5,0)(5,0)

\pszigzag[coilwidth=0.5cm](0.5,0)(5,0)

By default : 1cm

000000000+

M-

\pscoil[coilheight=0.5](0.5,0)(5,0)

\pszigzag|coilheight0.5](0.5,0)(5,0)

By default : 1

—(000—

— AN —

\pscoil[coilarm=1](0.5,0)(5,0)

\pszigzag[coilarm=1](0.5,0)(5,0)

—000 >

AN\ —

\pscoil[coilarmA=1](0.5,0)(5,0)

\pszigzag|coilarmB=1](0.5,0)(5,0)

By default : 0.5cm




NNE [ A r

\pscoil[coilaspect=0](0.5,0)(5,0) \pscoil[coilaspect=30](0.5,0)(5,0)

By default :45

00000 | #0000

\pscoil[coiline=1](0.5,0)(5,0) \pscoil[coilinc=30 ](0.5,0)(5,0)

By default : 10

\pszigzag[bow=1cm](0.5,0)(5,0) \pszigzag[bow=-1cm](0.5,0)(5,0)

By default : 0
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\pssin(0.5,0)(5,0) \pssin[periods=5(0.5,0)(5,0)
\pssin|periods=2cm](0.5,0)(5,0) \pssin[amplitude=0.5](0.5,0)(5,0)
\pssin[ppoints=5 (0.5,0)(5,0) \ pssin[ppoints=2000]](0.5,0)(5,0)

By default : periods = 1 , amplitude = 1 , ppoints= 360

\pssin[linecolor=blue,linewidth=2pt,function=360 div](1,0)(10,0)
\pssin[linecolor=green, linewidth=2pt,function=cos](1,0)(10,0)
\pssin[linecolor=cyan,linewidth=2pt,function=2 mul sin}(1,0)(10,0)
\pssin[linecolor=red,linewidth=2pt,function=dup sin mul .01 mul](1,0)(10,0)

22.4.3 Connecting nodes with coils
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\dotnode[dotstyle=*](.5,-.5){ A} \dotnode[dotstyle=*](3.5,0){B}

£[0Y

VA

\nccoil{->}{A}{B}

\nczigzag{->}{A}{B}

\nesin{—J{A}(B]

£H00

NN

\pccoil{->}(A)(B)

\pczigzag {->}(A)(B)

\pesin{->}(A)(B)

-

\nccoil*{->}{A}{B}

\nczigzag™ > {A}{B}

\ncsin*{->}{A}{B}
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22.5 Braces
22.5.1 Braces in pspicture

4
N

L N \puode(1,1){B}

\pnode(3,2){C}

) C \psbrace(B)(C){text}

1 B “ \psbrace(4,3)(1,3){}
S

0

0 1 2 3 4 5

Role of the asterisk !

2 2
1 1
0 0
0 1 2 3 4 0 1 2 3 4
\psbrace(1,1)(3,2){} \psbrace*(1,1)(3,2){}

22.5.2 The brace in the text
the node A is here and the node B is here)\psbrace(A)(B){text}

The brace has no dimension T Y
=+

1X0

ere is the node A
\vspace{lcm}

ere is the node B \psbrace(A)(B){}

1. braceWidth=.5cm,fillcolor=yellow

91



22.5.3 Options

—_ )
Q@w\V
—_ )
‘9@&/
—_ )
‘xa@’”‘}\(

o
—

2 3

0
0 1 2 3 4

0
0 1 2 3

braceWidth=5pt

braceWidthInner=.5cm

braceWidthOuter=.5c¢m

By default : \pslinewidth

By default : 10\pslinewidth

By default : 10\pslinewidth

— [\
YQLQ(\\(

2

—_

}\
—_

«I»'a{\ \

2

0 0 0
0 1 2 3 0 1 2 3 4 0 1 2 3
bracePos=.25 nodesepA=5pt nodesepB=>5pt
Position (%) horizontal offset vertical offset
By default : .5 By default : Opt By default : Opt
2 2 2
g X
1 ¢ 1 / 1 28
e
0 0 0
0 1 2 3 0 1 2 3 4 0 1 2 3
rot=90 rot=90,ref = r rot=90,ref=I
2 \/J 2 / 2 X
X
1 X 1 )@(I& 1 © o
0 0 0
0 1 2 3 0 1 2 3 4 0 1 2 3
rot=90,ref=b rot=90,ref=t rot=90,ref=C
2 2 2
1 \/K?K 1 67@ 1 \/\c‘/
%
0 0 0
0 1 2 3 0 1 2 3 4 0 1 2 3
rot=90,ref=B rot=90,ref=1C fillcolor=green
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23 Special fillings

23.1 Color gradient
23.1.1 Module pst-grad [1] [11]

\psframel[fillstyle=gradient](0.5,.5)(2.5,2.5)

By default

gradbegin=green

gradend=green

gradbegin=red
gradend=green

4

gradlines=5

gradmidpoint=0.7

gradangle=45

gradangle=90

By default : 500

By default : 0.9

By default : 0

\psframe|

fillstyle=gradient,GradientCircle=true ](0.5,.5)(2.5,2.5)

GradientScale=.5

GradientScale=2

GradientPos={(1,1)}
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23.1.2 Module pst-slpe [20]

\psframe|[fillstyle=slope ](0.5,0.5)(2.5,2.5)

slope [20] ceslope [20] | radslope [20] slopes [20] ceslopes [20] | radslopes [20]

\psframe/[fillstyle=slope](0.5,0.5)(2.5,1.5)

N EE (7 K

By default slopebegin=green slopebegin=red
slopeend=green slopeend=green

Y A R A R A U R R A R I AR USSR S

0 1 2 3 4 5

6 7 8 9
\psframe/[fillstyle=slopes,slopecolors= @ QOD Q 1 D QOD (1,.5)(9,2.5)

| Position I @ur en@ | nombre de couleursl

\psframe] fillstyle=slope,slopesteps=5 ](0.3,0.3)(1.7,1.7) (By default : 100)

4

slope ccslope radslope slopes ccslopes radslopes

\psframe] fillstyle=slope,slopeangle=45 ](0.5,0.5)(2.5,2.5) ( By default0)

N

slope ccslope radslope slopes ccslopes radslopes

\psframe] fillstyle=slope,slopecenter= .25 .25](0.5,0.5)(2.5,2.5) (By default.5 .5)

slope ccslope radslope slopes ccslopes radslopes
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\psframe] fillstyle=slope,sloperadius =.75 ](0.5,0.5)(2.5,2.5) (By default0.5cm)

©

slope ccslope radslope slopes ccslopes radslopes
\psframe[fading, fillstyle=slope](0.5,0.5)(2.5,2.5)

slope ccslope radslope slopes ccslopes radslopes
\psframe[fading, startfading=0.5, fillstyle=slope](0.5,0.5)(2.5,2.5)

slope ccslope radslope slopes ccslopes radslopes
\psframe[fading, endfading=0.5, fillstyle=slope](0.5,0.5)(2.5,2.5)

slope ccslope radslope slopes ccslopes radslopes

\psBall [option](1,1){blue}{.8}
sans option | sloperadius=10pt | slopebegin=red | slopeend=red fading slopesteps=5
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23.2 Filling with pattern
Package pst-fill

Creating the pattern : L’

\newcommand{\MonMotif}{

\begin{pspicture}(1,.5)
\psframe[dimen=middle,fillcolor=yellowfillstyle=solid,linecolor=blue](1,.5)
\pscircle[dimen=middle,fillcolor=magenta,fillstyle=solid,linecolor=magenta](.5,.25){.1}

\end{pspicture} }

Using the pattern : \psboxfill{\MonMotif}

\pspolygon[fillstyle=boxfill](0,.5)(1,2)(3,2)(4,0)(2,.5)

(J [ ]
Ao e [\
o | o | o[ o
( A A AN J
( A A AN J
fillangle=90 fillangle=45 fillangle=-30
By default : 0
° [N AN
Py PS / \
e fe [
[ ] [ ] (J / \
\\.\
fillsepx=.25cm fillsepy=.25cm

[eTel T.ia
o\

fillcyclex=3 fillcycley=3 fillcycle=3

3 corresponds to 1/3, By default : 0
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N o] e\ ° [ =
ATele] e
AT, AT
fillmovex=.1 fillmovey=.1 fillmove=.1
.1 corresponds to 0,1 cm , By default : 0
\pspolygon/[fillstyle=boxf{ill](0.6,.7)(1.8,2.4)(2.3,.6)(4,1.2)(2.5,.3)
( ( (
[ J (] [ J (] [ J (] (] (]
o | o % o o | o % o |
fillloopaddx=1 fillloopaddy=1 fillloopadd=1
By default : 0
23.3 random points filling

\psRandom{\pspolygon(0,.5)(1,2)(3,2)(4,0)(2,

)}

a

\psRandom{\pspolygon ..

\psRandom(1,1)(2,2){...}

\psRandom(0,0)(4,2){. ..

\psRandom[options](0,0)(4,2){\pspolygon(0,.5)(1

2)(3,2)(4,0)(2,.5)}

A

randomPoints=100

color

dotstyle=+

By default : 1000
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24 Special effects

24.1 pstextpath

position offset

graphic support

\pstextpathr} (0,0){\psline(0, 0)(5, 1)}{\red text}

/

24.1.1 Positioning on different graphic objects

\pstextpath[r] (0,0){\psline(0, 0)(1, 1)(2, 1)(3.5, 3.5)}{\red on the right}
\pstextpath[l] (0,0){\psline(0, 0)(1, 1)(2, 1)(3.5, 3.5)}{\cyan on the left}
\pstextpath[c] (0,0){\psline(0, 0)(1, 1)(2, 1)(3.5, 3.5)}{ centered }
S TP ,
: % = :
. o g :
N T Y, = 2
> = £
éé‘b 8 \(;' '% a
Sb. e 5 SO o :
o ot =
\V;\\ v‘(\\'(\u g e et eeaed
&
\psline \pspolygon \psframe
2. NG o 1o .
K, .
SN )
O B
% . 5
. . d
.‘ JS
%, &
%3,,@ on.therightan.the. left.. ’
<
.. !4]‘1."11(\.1(\‘&;\.
\ psdiamond \pstriangle \psarc
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- IR oy, \ /
9 5 § ”, & s
g =) 5 % X A
g = g S e g
= = N oo &
% & . = <. &
) x}§ ........ on. ¥ " .centered -
. a
\pscircle \psellipse \psellipticarc
. -C Csnle @,
. 6’0{ '&3@ [4, (é,
: (S C Y («]
& > & ~ &
g 2 < e,
. ?‘ I3 o
~ 80 .o %\:\.
= . N0
‘® ) righe e &
?‘,ng, ...... péj%%vﬁ
\pscurve \psccurve \psecurve
S
X . 19 e
& - R S :
& < - . 5 i<
oo™ o ~ <
& 2 S 5
ke 8 I 5 a Yo
) =] It .5
< & & o P
% ? : - 2 5
Z . o, et . X
(&3 S
P
" Q Q- ((31‘ .
o Sy
\pswedge \psbezier \psplot[algebraic]{0}{12.56}{sin(x)}

24.1.2 Offset

\pstextpath[l](0,.5){\psline(0, 0)(1, 1)}{text}

\)@4‘5 /

g

xQ

(0,0.5)

(0,-0.5) (0.5,0)

By default : (0,\TPoffset)

\TPoffset= -0.7ex.
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24.2 pscharpath
\DeclareFixedFont{\ [nom] }{\encodingdefault} {\familydefault}{\seriesdefault }{\shapedefault}{taille}

namWTl family :{imes ? : bold shape : normale

\DeclareFixedFont{\Font 1 T1}{ptm}{bT{n+{Zcm}
\pscharpath{\Font PSTricks}

PO ricks

24.2.1 Some families

PSTricks | PSIMICKS
pSTricks PoTricks
PSTricks | ®5Tricks
PSTTicks | PSTricks
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24.2.2 Formatting

\pscharpath[linecolor=lightgray|{\Font PsTricks}

\pscharpathl[fillstyle=gradient,gradbegin=red,gradend=cyan,shadow=true]{\Font PsTricks}

PsTricks

\pscharpath[doubleline=true]{\Font PsTricks}

PsTricks

\pscharpath[shadow=true]{\Font PsTmcks}

Psliricks

\pscharpath with asterisk
\pscharpath*{\Font PsTricks}

NL©Q T

IPTCIK
JULTICIKS

=true,linecolor=magenta]{\Font PsTricks}

N © I

LITICIES

\psboxfill{\tiny pstricks}
\pscharpath[ﬁllstyle boxﬁll hllangle 45] {\Font PsTricks}

24.2.3 Special effects
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\DeclareFixedFont{\Font }{T1}{phv}{b}{n}{2cm}
\pstextpath(0,0){\pscharpath*[linestyle=none]{\Font PsTricks}}
{\tiny PsTricks PsTricks PsTricks ...}
OIS 507, g SPULSI SPHE TS ISy
3 PsTric, £ Feks P, Tricis TPE I}
= P @ 7 E
Z o o8 susd sy = Sou 08 Fd a S B Qugs SPMLs,
N To T g Suels To T8 Sy
% Heyorn & Py 3 ] XY R o = Pl Z o 31k
. sprad b o - £ & D (2~ R Trid o 4,5’({ 5 Mg
g pemost Tag Prue, 3 e 3E 36 5 Foge b TRt
3 o spg Yy 3 & 5 & 5 & 0 . S0 ki
5 pre BE fg Zz fg th SFIE LY gw “
T b st & o & &% % rpeer 8§ 2 % 2 tagsa o
PsTE S Tricks ¥° Pt PR T Pypyiad® kel Us® ks pyrnd?

24.3 pscharclip

\begin{pspicture*}(12,3)
\begin{pscharclip }[doubleline=true]{
\rput(6,1.5){\Font PSTricks}

\end{pscharclip}
\end{pspicture*}

\DeclareFixedFont{\Font}{T1}{pcr}{b}{n}{2cm}

PSTricks
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25 Various objects

25.1 Dices
\psdice{1} | \psdice{2} | \psdice{3} | \psdice{4} | \psdice{5} | \psdice{6}
\psdice[unit=2]{5}
25.2 Fun drawing
Package « pst-fun »
25.2.1 Commandes brutes
2
1
G
-1 (0]
-2
—1 1 2 1 3 4 ) 6 7
\psBill \psFish
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\psAnt

\psBird

\psLouisXIII

11

10

\psPulpo
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2 3

4

2 3 4

\psParrot{1}

\psParrot{.5}
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5 5
4 4
3 3
2 2
1 1
2
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1
\psKangaroo{1} \psKangaroo{5}
3 3
2 2
1 1
1 1
—9 -2
-2 -1 1 2 3 -2 -1 1 2 3
\psPig(0,0) \psPig(1,1)
25.2.2 options
2
1
-1
-2
-2 -1 1 2 3 -2 -1 1 2 3

\psAnt|fillcolor=red]

\psAnt|fillstyle=slope]

106




2
1
-1
-2
-2 -1 1 2 3 -2 -1 1 2
\rput (1,1){\psAnt} \rput{-60}{\psAnt}

2 2

1 1

-1 -1

-1 1 2 -1 1 2
\psscalebox{0.5}{\psAnt} | \rput{\psscalebox{0.5}{\psAnt} }

3

1 2 3 4

) 6 7 8 9 10

\psBird[Branch]
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-2 -1 1

-2 -1 1 2

\psPig[eyeColor=red](0,0)

\psPig[noseColor=yellow](0,0)
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26 Create a graph

Utilisation du module pst-plot

26.1 Environnement
26.1.1 pspicture

— Axes : Macro \psaxes
— Quadrillages : Macro \psgrid

26.1.2 psgraph

Two syntaxes :

\psgraph|[Options] {arrows} (xOrig,yOrig) (xMin,yMin) (xMax,yMax){graph
width} {graph height} \endpsgraph

or

\begin{psgraph} [Options|{arrows}(xOrig,yOrig) (xMin,yMin)(xMax,yMax)
{graph width}{graph height} . . . \end{psgraph}

Remarks :

— The indication of the width and height of the graph allow automatic
scaling

— If graph height =! | Both axes have the same unit

26.2 Type of graph

10 10 ® | 10
9 9 9
8 8 8
7 7 e 7
6 6 o 6
5 5 ® ® 5
4 4 [ 4
3 31 @ 3
i i * i
0 0' 0
0123456738 0123456738 0123456738
By default : plotstyle= line [I§] plotstyle= dots [I§] plotstyle= polygon [I8]
10 10 10
9 9 9
8 8 8
7 7 7
6 6 6
5 5 )
4 4 4
3 3 3
2 2 2
1 1 1
0 0 0
012345678 012345678 0123456738
plotstyle= curve [I8] plotstyle=ecurve [18] plotstyle= ccurve [18]
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s

0123456738

O—NWHERUTTIOYJ00WO O

OFNWERUTIOY00OO

O NWHR IO O

-
o
o

0123456738

0123456738

plotstyle= bar [18]

plotstyle= ybar [18]

plotstyle= xvalues [I8]

0123456738

O NWHROIOIJ00O O

O NWERECIOIJ00O O

0123456738

1N
10
[
0

7.
6.0 °
® 50 5.0
® ®
0

4.
(4
0

3.
° 2
1.0 o
¢

0123456738

O NWERCIOIJ00O O

plotstyle= LineToXAxis [I§]

plotstyle= LineToYAxis [18]

plotstyle= values [18]

O NWEUTD~T0OD
[

0123456738

OHENWHR IO O

0123456738

OHENWHR IO O

0123456738

Hue=100,plotstyle= colordots [I§]

plotstyle= LSM [I8]

shadow=true,plotstyle=bar [I§]
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26.3 Axes

26.3.1 Dimensioning

\psaxes{<->1}(0,0)(-1 —2)(/3,3) \psaxes{->}(4,2)
A ’
2
2 °
1
< > !
1 2
0
-1 0 1 2 3 ?
. Y
A
26.3.2 Types d’axes
1
3 3
0
2 2
0 1
1 1
0 0
0o 1 2 3 0o 1 2 3
axesstyle=none axesstyle=frame axesstyle=polar

By default : axesstyle=axes

26.3.3 choice of axes

01 2

2
1
0

—_—>
01 2

xyAxes=true

xyAxes=false

xAxis=false

yAxis=false

By default : xAxis = yAxis = xyAxes = true
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26.3.4 Units of the axis

2.5A A 7.5A
2.0 6.0
1.5 3 4.5
1.0 3.0
0.5 1.5
0 > 2 > 0 >
2 4.0 012345 0 246 810
Ox=2 Oy=2 dx=.5 Dx=2
Dx=2.0 dx=.5 dy=.5 Dy= 1.5
Dy=0.5 dy=1.5
By default : Ox = Oy= 0 Dx=Dy =1
26.3.5 Origin
A \
2
1
0 > >
0 1 2 1 2

26.

showorigin=true (By default)

showorigin=false

3.6 Titles on axes

\psaxes{->}(0,0)(6,5)[X ,-90][Y,180]

Y

2

1

0 >
0 1 2 3 4 5 X

112




\psset{llx=0,lly=0,urx=0,ury=0,xAxisLabel=X,y AxisLabel=titre axe Y,yAxisLabelPos={-lcm,c}}
T, T T T m T I
[ Y !
[ 3 !
[
| |
[
gr=========---- } 2 i
! ! '
[ I
b ' I : 1 I
) 2| | | |
< I I I
= I | | 0 |
]
£ 1 ! ! 0 1 2 3 |
T [ [
' | : titre axe X I
S emeeeeeeee——= 1X b e e e I
0 1 2
xAxisLabel=X xAxisLabel=titre axe X
yAxisLabel=titre axe Y yAxisLabel=Y
llx=0 llx=-1cm
lly=0 lly=-1.25cm
urx=0 urx=.5cm
ury=0 ury=.5cm
yAxisLabelPos={-1cm,c} xAxisLabelPos={c,-lcm}
26.4 Ticks marks
26.4.1 Style of the tick marks
3
2 2 2 2
1 1 1 1
0 0 0 0
o 1 2 0O 1 2 o 1 2 o 1 2 3
tickstyle=full (By default) tickstyle=top tickstyle=bottom tickstyle=inner
axesstyle=frame
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26.4.2 Ticks on axes

2 2 2 2
1 1 1 1
0 0 0 0
0o 1 2 0o 1 2 0o 1 2 0o 1 2
ticks=all ( By default) ticks=x ticks=y ticks=none
26.4.3 Size of ticks marks
3 3
2 2 2
1 1 1
0 0 0
0 1 2 o 1 2 3 o 1 2 3
ticksize=5pt 10pt xticksize=2 xticksize=5pt Opt
yticksize=2 yticksize=10pt Opt

By default : ticksize = xticksize = yticksize = -4pt 4pt

26.4.4 Width of ticks marks

A
2,
L

ob—u->

0O 1 2

tickwidth=10pt

subtickwidth=5pt

tickwidth=1em

subtickwidth=1ex

By default : tickwidth = subtickwidth = 0.5\pslinewidth
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26.4.5 Number of subticks

26.

subticks=2

xsubticks=2

ysubticks=2

By defaultsubticks = xsubticks = ysubticks = 0

4.6 Size of subticks

subticksize=1

xsubticksize=.5

ysubticksize=2

By default : subticksize = xsubticksize = subticksize = 0.75

26.4.7 Color of tick marks

tickcolor=red
subtickcolor=green

xtickcolor=red
xsubtickcolor=green

ytickcolor=red
ysubtickcolor=green

By default : tickcolor = xtickcolor = ytickcolor = black
subtickcolor = xsubtickcolor = ysubtickcolor = darkgray
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26.4.8 Style of ticks

o 1 2 3

0O 1 2 3

yticklinestyle=dashed
xticklinestyle=dotted

xsubticklinestyle=solid
ysubticklinestyle=none

ticklinestyle= dotted
subticklinestyle=dashed

By default : ticklinestyle = xticklinestyle = yticklinestyle = solid
subticklinestyle = xsubticklinestyle = ysubticklinestyle = solid

Option : solid/dashed/dotted /none

26.5 Labels on axis

26.5.1 Choice of axis

01 2

01 2

labels= all (By default)

labels=x

labels=y

labels=none

26.6 Position of labels

xlabelPos=axis
ylabelPos=axis

xlabelPos=bottom (By default)
ylabelPos=right

xlabelPos=top
ylabelPos=left (By default)
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1 1 1
1 2
0 0
0o 1 2 0o 1 2
labelsep= .5cm xlabelsep= -.5cm xlabelsep= .5cm
ylabelsep= .5cm ylabelsep=-.5¢cm

By default : labelsep = 5pt, xlabelsep = 5pt, ylabelsep =5pt

A oM A
2 | . 2 |
1
1t - 1}
0
0 > : —> 0 >
o 1 2 o 1 2 0o 1 2
xlabelOffset=0.5 ylabelOffset=0.5 xlabelOffset= -0.5
By default : xlabelOffset =0 , xlabelOffset = 0
26.6.1 Size of labels
2 2 2
1 1
0 0 0
0 1 2 0 1 2 01 2
labelFontSize=\scriptstyle xlabelFontSize=\footnotesize ylabelFontSize=\small

26.6.2 Labels with extra

2V 2106
1V 1-108
oV > 0-10° >
0-10% 1.10* 2:10° Os ls 2s
xlabelFactor=\cdot 10? xlabelFactor= s
ylabelFactor=V ylabelFactor=-108
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26.6.3 Decimals in labels

2,0 2
1,0 1
, 0
0,0 1,0 2,0 0.0 1.0 2.0

2h00
1100

0hR00
2

comma=true

comma= false (By default) | decimalSeparator=h

xyDecimals=1 xDecimals=1 yDecimals=2
26.6.4 List of labels as axis
\(\\))96
W
)
[\
o
@ 0 o <
N O <Y N
0 X K\ﬁ\ \0
\psaxes[xLabels={,one,two,three,four} xLabelsRot=45,
yLabels={,small,big,huge},yLabelsRot=30](5,4)
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26.7 Legend
26.7.1 Legend position

O = N W ke ot

0 1 2 3 4 )

O = N W ke ot

0 1 2 3 4 )

\pslegend[Ib]{left bottom}

\pslegend[lt|{left top}

6 6
: :
4 4
3 3
2 2
1 1
0 0
0 1 2 3 4 ) 6 0 1 2 3 4 )
\pslegend[rb|{right bottom} \pslegend|[rt]{right top} (By default)
6 6
5 5
4 4
3 3
2 2 left bottom
1 1
0 0
0 1 2 3 4 5 6 0 1 2 3 4 5

\pslegend[1b](20,10){left bottom}

\pslegend[1b](10,20){left bottom}

26.7.2 Legend style

O = N W ks ot

01 2 3 4 5

6 7 8 9 10 11 12

\newpsstyle{legendstyle} {fillstyle=solid,fillcolor=cyan,shadow=true}
\pslegend[lt]{\red \rule[lex]{2em} {1pt} & courbe 1 \\
\blue \rule[lex]{2em}{1pt} & courbe 2 \\
\green \rule[lex]{2em}{1pt} & courbe 3 }
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26.8 Point on axes

syntax :
\psxTick [Options]{rotation}(x position){label}
\psyTick [Options]{rotation}(y position){label}

6

5

4

3

2 \o)
Y =15t W

01 //0.)

0 4\/ L

0 1 2 3 4 ) 6

\psxTick[linecolor=red,labelsep=-20pt ]{45}(3.25){\red X=3.25}
\psyTick[linecolor=magenta](1.5){\magenta Y=1.5}

26.9 Portion of curve

e o e e i e e e e e et
CoooooooDRR~RF
CRROOEESIODOORI

0 100 200 300 400 500 600 700

\listplot[xStart=200,xEnd=300,linecolor=blue,linewidth=5pt|{\dat}
\listplot[yStart=0,yEnd=.05,linecolor=red, linewidth=5pt|{\dat}
\listplot[nStart=200,nEnd=300,linecolor=magenta,linewidth=5pt|{\dat}

26.10 yMaxValue and yMinValue
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1

-1

"N/ N\

\psplot[yMaxValue=.7,yMinValue